BEUVEH LORBEEOBAR (SMIF4R1HRA)

7 TR RICR AR EEBIERE R

&it M3 &&t
BB O®K HELL DM

(N) (%) B4 (N) (N) (%) ER B

1 | ERMGEBEITORE 59 10.6 59
. 128 23.1 E=F
3k | EEDOBETE 107 19.3 107 107 193 FiEHR
Atk |EEOBH 82 14.8 82 82 14.8 ER=3
58 |EROBHE 92 16.6 92 92 166 |ERMWIER

ER 47

tosr—K 3

ELER 17

] 4

HRaEBRRE 1

EEZAEHBRER 1

REME 4
6%k |EROBHE 112 202 |HEE 2 112 20.2 HER

HMEHER 1

HFERIER 1

HBWESER 1

HBFEHRFTR 1

HBEERS 6

HIFERIR S 8

s 15




BEUVEH LORBEEOBAR (SMIF4R1HRA)

& 7

BRE 1

AR 1

HE 4

BREBERE 1

SEBEAERHEEE 1 20 36 R

7% |BBR OB 34 6.1

SEBEAREEBIRE 1

SHIEAREEEE B RE 1

MAKEREERERE (F 1

FEEBFY)

MiIAEREZREERE 1

BEZEREHERBEAERER 1

BE 14 14 25 RER

=1 555 100.0

KEEIZNDIB18. BF1420D56 12 L VICER82L4 D561 IXBEATILEAL)BE
KR TRBEMRBEEBAAZLTOETOT, FEtE—BLAWNMEERHYET,




BEUVEH LORBEEOBAR (SMIF4R1HRA)

1 BEBBHRICHRIBANELERFRER

&t AR a5t
B DK HAE LD
(AN) (%) B4 (AN) (N) (%) ER B
1 | ERMLREBRETOBE 17 100.0 17 17 100.0 =ER
= 17 100.0
) EEBHAER)ICRIBAELEBERER
&t AR a5t
B DK HAE LD
(AN) (%) B4 (AN) (N) (%) ER B
1 | EREEEITOIBE 3 8.8 3 3 8.8 =8
EELMEXILRBE D
2%k |BLTEHIEREHRETS 17 50.0 17 17 50.0 RER
B 75
B 0 0 0.0 HES
1 DRBERVEIZE AR iaiie
ER R DEEFS _ .
EEZE S E S 2 2 59 |BFRRWBIER
3k - S 8 235
2 NEEANREES -
Y 0)@3&5&5%?&% e 0 0 0.0 SRRk
3 HICEELGHBEXIE
REBEVLELTIERE 6 6 176 |REHIER
BETOIBH
miAERRERRERUE ;
4%R B%E@nga’% = 5 14.7 5 5 14.7 RER
54 |TiLFEREORE 1 2.9 1 1 2.9 EHER
=1 34 100.0

KEREMRBOERAAZLTOWETOT, BFtE—BLEWNGERHYET,



BEUVEH LORBEEOBAR (SMIF4R1HRA)

I ERBHEAR2) ICHRIBANBLEBFRER

&t A3 a5t
B DK HAE LD
(AN) (%) B4 (AN) (N) (%) ER B
FEL ZCEBRARE
Bfi. BRERIR E BREW . BRER
18 |, B2EE L. 0 0.0 0 0 0.0 =
EERA T RURAEISE
T DT
1 FEHIER OB 0 0.0 0
2 HEGERETOXRE
2% |, ZEMETIREER. B 7 16.3 FEHR
FRREHER. BRI FH 7 163 7
B, BEEE L. FER '
%:t&zﬁ?ﬁﬁﬁlllﬁ:twﬂﬁk
1 R#SLEBETOIER 1 23 1
i 0D Bg 75 '
2 BIHBOEERBEETO
3 |FELT.DERTRE 12 27.9 ZEH
B, BRPRAR A BRER, BRER| 956 11
TEEE. BREEAL. '
AT RURAEISE
T+ DB
4%k | EEDOBHE 16 37.2 16 16 372 |BEMWIER
1 EREORE 0 00 0
5%& e NS =
% ERRVEIZEEDOH 6 140 6
1 E”;gt%%%&ﬁ%‘rz% 1 93 1
ol [SBB _ s | 186 | mE®
2 Hg%iﬁ@%%%%ho:é_ﬁ 1 93 1
D .
1 BIZEBROBHE 0 0.0 0
7% —
2 WHICHRBLTEBRETS 0 0.0 0
ERROBH '
=1 43 100.0

KEREMRBOERAAZLTOWETOT, BFtE—BLENGERHYET,




BEUVEH LORBEEOBAR (SMIF4R1HRA)

T BEHRBHRRR Q) CROIMAELEBIFRE R

&t A3 a5t
B DK HAE LD
(AN) (%) B4 (AN) (N) (%) ER B
1% | HEBEEMOBETE 0 0.0 0 0 0.0 =
1 B, BIEMRUR
54 32.7 54
s X
2%k SRER OB 55 33.3 FER
2 HLEDRBRELELT 1 0.6 1
LHAEFEMDETS '
AT ERETO>FE
3k Egﬂjih;’%ﬁﬂﬁéﬁﬂi&lﬁ{%ﬁzﬁﬂid) 72 436 72 72 436 RER
4%k | EEEEMOBS 26 15.8 26 26 158 |RRMHIER
| EEHERUES |, |, |EeR 3
DT '
5#% ER 0
12 7.3 FRK
2 EEMROBHS 8 48 8
6%k |BEIREOBIE 1 0.6 1
7%  |HIiRREIRR OB 0 0.0 0 0 0.0 RER
=1 165 100.0

KEEMESHDIH1AIBERCTILIILIBE
KEBTREMKRBFOERAAZLTOEST DT, B E—BLEWNGEEAHYFET,




